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SCHOLARS ACADEMY

[ ENGLISH ]

9. Direction: Fill in the blank with an appropriate option.
A variety of beverages flooded the market.
1. Direction: Select the word which means the same as the (@ has (b) hadn't
group of words given. (©) have (d) would
An arrangement of events or dates in the order of their
occurrence. 10. Direction: Select the misspelt word.
(@)  Chronometry (b)  Charter (@) Enummerate (o) Dislike
(c) Chronology (d) calendar (c) Sincere (d) Adore
2. Select the most appropriate meaning of the given 11. Choose the word which can be the best substitute for the
idiom/phrase. given phrase.
Bleed someone dry ‘That which cannot be corrected’.
(@& To take all of the (b) To make room for (@) Unintelligible (b) Indelible
resources from someone someone (c) lliegible (d) Incorrigible
(c) To help someone (d) To emotionally hurt
someone 12. Direction: In the given question, a part of the sentence is
made bold. Below are given alternatives to the bold part
3. Direction: Choose the option that is the passive form of at (A), (B), and (C) which may improve the sentence.
the sentence. Choose the correct alternative. In case no replacement is
Shyam saw Abhishek starting the car. needed, mark (D) as your answer.
(&) Abhishek has seen Shyam (b) Abhishek can be seen Always check under the seat thoroughly before you have
starting the car. starting the car by Shyam. placed your luggages.
(c) Abhishek was seen (d) Abhishek was saw by (@) you place your luggage (b) you are placing your
starting the car by Shyam. Shyam starting the car. luggages
(¢) vyouplaced yourluggage (d) No replacement required
4. Direction: The following sentence has been split into four
segments. Identify the segments that contain a 13. Direction: Select the alternative that will improve the
grammatical error. underlined part of the sentence in case there is no
All mine office colleagues / were very supportive / and improvement select “No improvement”.
encouraging / during my office tenure. You have to wear this uniform whether you likes it or not.
(@)  were very supportive (b)  All mine office colleagues (@ whetheryoulikeitornot (b) whether you are liking it
(c) andencouraging (d)  during my office tenure or not
(c) Noimprovement (d)  Whether if you like it or
5. Direction: Select the option that is nearest in meaning to not
the underlined word and mark your response in your
answer sheet accordingly. 14. Direction: Question consists of a sentence with an
If you had one of those Yugoslav names with a paucity of underlined word followed by four words. Select the
vowels, you might sprinkle in a few. option that is nearest in meaning to the underlined word
(@) Abundance (b) Amplitude and mark your answer.
(c)  Profusion (d) Dearth Her smile was contagious.
(@) Arrogant (b) Disrespectful
6. Direction: Select the most appropriate meaning of the (c) Disrespectful (d) Catching
underlined idiom in the given sentence.
I told you not to play the prank but you didn’t listen, 15. Choose the correct spelling from the options given.
now face the music. (@) Inaugurate (b)  Enaugarate
(&) accept the consequences (b) put on earphones (€) Innagarate (d) Inagurate
(c) listen to the songs (d)  sing popular songs
16. Direction: Choose the correct antonym of the given
7. Direction: Choose the appropriate word to fill in the word.
blank. Deadlock
She____ for a walk every morning to the park. (@) Stalemate (b) Advantage
(@) isgoing (b)  goes (c) Impasse (d)  Predicament
(c) hasgone (d) gone
17. Direction: Given here are four sentences. The first
8. Direction: Fill in the blank by choosing the part of speech sentence is in the correct order, while the rest of the
that grammatically completes the given sentence. sentences are jumbled. Pick the option that gives their
I have quite few books on art and culture. correct order.
(@ the (b) a A. Kristina was excited to go to her Aunt, who lived in
() many (d) most Paris.
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B. When she reached Paris, she found out that her Aunt 24. Direction: Find the correct antonym of the given word.
was already dead. Necessary
C. Because she wanted to give her a surprise. (@) Significant (b)  Useless
D. She booked a flight and she didn't tell her Aunt that . .
. () Required (d) Basic
she was going to her house.
(@) ABCD (b)  ADBC 25. Change the given sentence into indirect speech.
(c) ABDC (d) ADCB The gatekeeper said, "I am not feeling well since
Monday."

18. (18 - 22') Direction: In the following passage some (a) The gatekeeper told that (b) The gatekeeper said that
words have been deleted. Fill in the blanks with the help he was not feeling well he was not feeling well
of the alternatives given. Select the most appropriate since Monday. since Monday.
optlorj for the blank. ] . . ] (c) The gatekeeper said that (d) The gatekeeper said that
Weddings are wonderful times in people’s lives if the he is not feeling well he has been not feeling
main idea is the coming together of families and to have a since Monday. well since Monday.
day or two of fun. (1)____, they become primarily
about what ‘must be done’ because of tradition or
satisfying the ego of a few people (often the oldest male
or female member from the boy's side). They [ REASONING ]

(2) focus on the fact that a new relationship is
often (3) and the idea that family is meant
to support and help (4) it up, rather than 26. o TI% I GﬂTﬁﬂﬁ | ﬁ, 39 I \"H'Iq?ﬁl' DI I
bring it down by taking up opposite positions, sulking, i e uy \.’vﬂ?ﬁf m/ﬁ'%ﬂ % (Q:Uﬁ ®t
and laying the foundations of (5) gafa T8 )|
relationships. These make for corrosive memories, often From the given answer figuresl select the one in which
brought up years later, sometimes after grandchildren question figure is hidden/embedded. (rotation is not
are born. allowed).
Select the most appropriate option to fill in blank No. 2.

(@) however (b) nevertheless

(c) seldom (d) frequently

19. Select the most appropriate option to fill in blank No. 4.

(@) tobuild (b) building ]

(c) tobuilding (d) build

(a) (b)

20. Select the most appropriate option to fill in blank No. 1. I

(@) Instead (b) Despite of

(c) Although (d) Inspite

(©) (d)

21. Se.Iect the most appropriate option to fill |.n blank No. 5. 27. ‘qﬁ‘ 1 n‘é 2011 FY W a, 10 n‘é 2008 Y

(@) discordant (b) compatible Wﬂﬁ?'\"ﬂﬁ‘lm?

(©)  dulcet (d)  harmonious If 12 May 2011 was a Thursday, then what was the day of

the week on 10 May 2004?
22. Select the most appropriate option to fill in blank No. 3. .
@ rigid (b) fragile @) AR Monday (b) HITAAR Tuesday
HIR d d) IfdaR sunda
(c) obscure (d) robust © Saturday ( v
- . . 28. fer WU wyAl IR sl @1 ST

23. Direction: Sentences of a paragraph are given below in e
jumbled order. Arrange the sentences in the right order ﬂ'ﬁ'ﬁ'ql e aTd N & Pyt A a“é SR 9l
to form a meaningful and coherent paragraph. %' o _[’F‘ de A U N snaauﬁ GARERTIG) Eﬁ?ﬁ
A. A man of that character is free from fear, free from B, T PR & fow e et & @ i @/ fFeed
hatred. YA BT AP U A A0 HaAT8/8 |
B. And it is neither a question of ceremonial piety nor of DPYA:
merely going through the ritual prescribed to us. aﬂgw anqqﬁ%|
C. Unless that kind of transformation occurs, you are not O 3"1:[1;%%|
an authentically religious man. qq_ﬁ'q’%q’m‘a%l
D. Religion is not a matter of mere dogmatic conformity. frepd.

E. It is the remarking of your own self, the transformation -
of your nature. :::ngﬁﬁgél
(@) ADEBC (b) DEBCA (1) P T T B
(c) ACBDE (d) DBECA
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Read the given statements and conclusions carefully.
Assuming that the information given in the statements is
true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions
logically follow(s) from the statements.

Statements:

No rat is a mangoes.

Some mangoes are leaves.

All leaves are papayas.

[]
R4PQ5F

Q

S09MA 32094

Conclusions: (@)

(1) Some leaves are not rats.

(1) Some leaves are mangoes. q 9 O q VB b Q O q 'b H
(111) Some papayas are mangoes. () (d)

(2) HId FHY | WU (b) HAA FBY 1| TR . . ,
a)_'l?ﬂ% Only conclusion | W%Only conclusion Il 34. TR+ B3 s %' x 3)'[3['&' - %' + 1o %Gﬁ? i
ollows follows w1313« 8, At Fafafa A s s adt 22

o f £ f £ f If '+' means '+, 'x' means '-', '+' means ' + ' and '-' means
© 3R ng (@) aral 1 % I 'x', which of the following options is correct?
SR A All the STTIRUT Hd Either
a 6x16+2+4-3=14+7 (b 7x42+7+3-4=42+6
conclusions 1, Il and Il conclusion | or conclusion @ *Z-Z (b) ;;_7
follow I1l follows ' '
(c) 50x49+7+1-2=30+6 (d) 9x16+8+6-3=32+32
29. & E siEen & » RiE F RIM W 1 AT ARG ¥9-5 T4-8
What should come in place of ? in the given series? a 3 R
25,52, 106, 214, 430 ,7) ’ 35. ﬁ-q T aﬁ Ll a; xS
S it
(@) 860 (b) 841 Arrange the given words in the sequence in which they
(c) 863 (d) 862 occur in the dictionary.
) o . 1) Wrest
30. fydw: Frafifea vy 4 Ry e fawedt & & dfra 2) Wraith
NG/ &R /G BT TG B | 3) Wrath
Directions: In the following question, select the related 4) Wriggle
word/letters/numbers from the given alternatives. 5) Wreck
21:3::574:7 @ 23514 (b) 23,541
Ea; 23 EZ; 82 () 231,54 (d 2,3,41,5
C 97 113
36. - fouguvam # o fraa aif @2
31. ;&mﬁaﬁ? FIER Pt qaAH SITY BT GE%HE; 4%, 6 How many squares are there in the given figure?
ansangmalacrmsnzn,aﬂ JAHT
3TY JTd B |
The ratio of present age of Prakash and Qadir is 3 : 4, 6
years ago the ratio of their ages was 5 : 7, find the
present age of Qadir.
(@) 48 ¥ 48 years (b) 32 ¥ 32 years
(c) 36 T 36 years (d) 4499 44 years @ 10 () 11
. C 12 d 14
32. U fAf¥@ $e umr ¥, 'TorquE' BT 'wsuuxr' firaT (©) @
ST & | ST T THT 7 ‘GABENT & g T e &2 37. Pl den yem i s-f den g fe o) &
In a certain code language, ‘TORQUE’ is written as wﬁwﬁaﬁﬁ?
‘WSUUXI’. What is the code for ‘GABENT’ in that code R N . .
| s Which number will replace the question mark (?) in the
anguage? . .
(8)  KFFIRX (b)  KEEIOX following number series?
a
86,74,84,76,?,78, 80
(C) JEEIQX (d) JFEIQX (a) 84 (b) 78
. . c) 80 d 82
33. W9 YU I 'Pq R W TdT 8, af FFuferf@a wae © @
aﬂch ofefr of the mirror%?images of the following 38. WWIHT < ﬁ" ‘AT BT ’me i quﬁ
combination is correct when the mirror is place at ‘PQ’? % Gﬁ? RAT' BT 39’ & &0 H %I oH
PE UTHT T ‘MAP’ BT Fe T §IM?
In a certain code language, ‘CAT’ is written as ‘24’ and
‘RAT’ is written as ‘39’. What will be the code for ‘MAP’ in
that code language?
Mob. - 01141676717,9312712114
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@
(©

39.

@
(©

40.

@
©

41.

@

(©

42.

@
(©

43.

@
(©

44.

31 (b) 30
40 (d 25
I MeR-TYE @1 UguH ST ot g gaer |

LEIRCE ]

Identify the letter-cluster that does NOT belong to the
following series.

DW, FU, IR, JQ, LO, NM

DW (b) IR

o] (d) NM

o9 § TS ST Y HSPHT U UTHT ST ST B, A
3 figali are woe F faudid feaa g g &2

How many dots lie opposite to the face having 3 dots,
when the given figure is folded to form a dice?

2 (b) 4

5 @ 6

e Fufafaa oot & fi= Gdy &1 gafaw g
I aTd 39 3G BT ITF P |

i, uelt, RIS

Direction: Select the Venn diagram that best represents
the relationship between the following classes.
Eagle, Bird, Crocodile

X
0 QO

D ©0
(d)

frfafa uxE A, e e faweul @ faww sea &

T B

In the following question, select the odd number pair
from the given alternatives.

416 (b) 925
257 (d) 164
frafafaa el @ dgfea swa & forr T

T Hardl BT TS BIoE St IS 9 F 91¢
A 31T * Tl B FfeATIT HR THaT |

Select the correct combination of mathematical signs that
can sequentially replace the * signs from left to right to
balance the following equation.
24%12*35%24*6 *319

4 -5, %, = (D) x+-+=
.2y, (@ 5=
3. TS BT UH HST WIST 3R BIeT SITdT & S

f& i few e wy anpfar & feamar mar @1 fRw @

@)
©

45.

@)
(©)

46.

@)
(©)

47.

@)
(©)

3an'agggﬁdﬁii'§ﬁﬁ1Eﬁifﬁsidharﬁnﬁ“q?tﬁgﬁﬁan
Iaalé |

Y TPpfa:

Direction: A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.
Question Figure:

3anwav§ﬁm

Answer Figure:

o DDD o e °°°0° £-3 ooo L

[ %" “F 0oo 1 °M° °°o°o°°
(1 (2) 3) (4)
(1) (o) (2)
(3) (d) ()

= & s uy snpfa &Y gdvr wfafd &9 ar ghme
Uy :

Direction: Which will be the mirror image of the given
question figure?

Question Figure:

M
'é
l:;
Answer Figure:
I TPl
= I U I . SV B e 2
(A) (B) (€ (D)
(A) (b) (B)
(© (d) (D)

39 fave &1 999 Fifvg o diod d=n 9 St
YR TR 8 R 7oR gudl Wen yyw 9en d
TEfRa e

Select the option that is related to the third number in
the same way as the second number is related to the first
number :

8:576::13:?
2210 (b) 2197
2366 (d) 2112

I, + B P EUA DISd fPATAEE, '+ Bl'@' P
FU § SIfSd frar 91 €, 'x' B '%' S U A difsd
fooar ST @ SR — B ’A* & U | Pifed fbar srar

2 o fauw e wefiewor &1 9 g
If, '+' is coded as 'V, '+' is coded as '@', 'x' is coded as '%'
and '-' If is coded as 'A' then the value of the given

equation will be.
13!102@6%2"41
6 (b) 9
14 (d) 12

Mob. -
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fft 9891 9 IR IR dieY | go Tral S EaEan

48. U U faweul O | S I&R-TYE PT TUH BIfTT Sl AP H)
o o) ® wyara® g (2) F RMA R T AHaT 2 | TR | T | o | AR | SR | RaRR
From the gl\.len alternatives, select tche set of Ietters that — 75 78 35 5 55
can come in place of the question mark (?) in the
following series. TREH 22 18 32 30 45
BEI, EHL, HKO, KNR, ? I | 80 | 5 | 50 | 3 | 20
(@) NPs (b) - NRU cead 35 42 a5 50 60
(c) NQu (d) Nat | , : .
Tsqa U gA GTdl D TSI BT 3N, WG | g
49. TP A faua & @1, I g8 A "9 B T i Tl $ 6B & 3ad & THT fhae wfawra s ar
A& AT s g g | Ra s 32 i 72
Shashank saw Vimal, he recalled "He is the son of the (@) 57.82 (o) 60
father of my daughter's mother". Who is Vimal? (c) 45.90 (d) 50.69
(@) q-|'|_5c Brother (b) §AR-34-A@  Brother-in-
law 55. U oAfad id oA H 4y foeltgver &t nifq & 9ra gen
(c) WIERZA-Al  Father-in- (d) fOdT Father wHdl 71 aig 98 YRT & yiogd WEE gl Bl @
law P T URT & AHA a9 B A 2 T[T s q9g
A . _ ﬁ‘lﬂl%,ﬁmﬂﬂﬁi%ﬁl/ﬂaﬁ%z
50. TORNT Jdbdl & T TASH &1 IgT B3 ol HiAD A person can row a boat at a speed of 4% km/hr in still
FTUH * ﬁa’raﬁuﬁwﬁamm% 3R gt water. If it takes 2 times more time to cover the same
aﬁ'\qﬁﬁaaﬂm% distance upstream than to cover it downstream, then the
Select the correct combination of mathematical signs that speed of the stream in km/hr is:
can sequentially replace the * signs and balance the @ 1 (b) 1.5
equation. (c) 2 (d 25
23%12*%6*2%12%3%125%5%*34
(@ +-+=%x+++ (b) &4 545 %4, - sin 34° cos 236°—sin 56° sin 124°
(©) 44+ %=+ (d) 4% 4% -1 = gg. CO0s28° cos88°+cos 178" sin 208° PIAA T2
What is the value
: : . sin 34° cos 236°—sin 56" sin 124°
[ Quantitative Aptltu de ] of COS28° cos88°+cos 178°sin 208°
2 (@ -2 by -1
51. U X &1 Ut ysta &wd 462 A B 1 ST ot © 2 @ 2
TS 35 A 21 P F MUR P A w @
The lateral surface area of a cone is 462 cm2. Its slant m : ﬁ% U
height is 35 cm. What is the radius of the base of the 37. X Wﬁ‘fm (?)a; . b ,,! . ?
cone? What will come in place of question mark (?) in the
following question?
(@) 8.49HI8.4cm (b) 659H 6.5cm 31 493 11 51 _9
(©) 423 42cm (d 3.23THI3.2cm g TegTly oy =
) (@ 11% (b) 13
52. ﬁuﬂ ABC ﬁ, £BAC = 40° %‘, BP a‘ﬁ? CQ hHRI: AC a‘ﬁ? (©) 12% d 12
AB IR e €1 2CBP 3R £BCQ & HUT fgHTSI
fig 1 R e ¥ @), 2BIC T AR 58. 2004 T U G B SRS 10, 00, 000 2 1 T 2005 A
In triangle ABC, ZBAC = 40°, BP and CQ are altitudes to 15% aﬁq@?% 2006 & 35% aﬁa»‘:ﬁgé% Gﬁ?' 2007 &
AC 34 A el e e fecrsof e 156 19 7€ 81 70 200 > 3w 3 e A
and ZBCQ pomnt 1, R S 9Td BIferg |
(@ 150 (b) 160 The population of a city in 2004 was 10, 00, 000. If there
(c) 170° (d) 145° is an increase of 15% in 2005, there is a decrease of 35%
. . . in 2006 and there is an increase of 45% in 2007. Then find
53. Udh dd Q?ﬂ'q NP ®t wr{ 8 q#t %I !T% Eﬂﬁ? STYR the population of the city at the end of the year 2007.
o1 Fieat 6 91 3, A ST ot YEiT dmwa T B2 (@ 10,80,000 (b) 10,83,875
The height of a right circular cone is 8 cm. If the radius of (c) 10,84,874 (d) 10,84,874
its base is 6 cm, what is its total surface area? Y T
@ 96 FHI 96m cm’ (b) 69m T 69m cm’ 59. TP ¥ WIYRY TS W FTHR HUT T 2, U 2
(c) 54nTH? samcm? d) 48n AHY 48n cm? Ut P I ST B oX 8% €, AT 3 IuT P AT T8 10%
7 ok 5 T & i ot 3rafy & forw 97 12.5% ufa af
54. = & w3 aifere @1 wFyd® srerae ST qur 21 afe <l aafda A 20 aRa T BT AR $© Tuf
= fRw uy & IR difvme: o 36.7 ARG FUA HT Y fHar1 39 auf ot J=m
T BT s 91¢ 39+ BT gHr
Mob. - 01141676717,9312712114 Page 6
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@
(©

60.

@)
©

61.

A bank gives business loans at simple interest, the rate of
interest for the first 2 years is 8%, for the next 3 years it is
10% and for the period more than 5 years it is 12.5% per
annum. If a person took a loan of Rs 20 lakh and paid Rs
36.7 lakh in a few years. Find the number of years after
which he repaid the loan.

9 a’ﬁf 9year

7ay 7 years (b)
gay g years (d) 10 9 10 years

T frgor & g SR Uit 9 : 8 & SrguTal A 71 Al 3w
10 Sfte? Uit Rremar s 8, Y g iR Uit %7 SrguTa
51 : 47 §1 &Il g1 fyor & gy &Y arfas 9 9|
Cdicpl!

A mixture contains milk and water in the ratio 9 : 8. If 10
liters of water is added to it, the ratio of milk and water
becomes 51 : 47. Find the actual quantity of milk in the
mixture.

306 WIc 306 liters (b)
282 WIeR 282 liters (d)

fcwr: g uig ard & uiw fafi der ok u it &
farsroi A, 8, ¢, 0 SR € B uferwra wEn @) gt T Y
o Wi &Y art g &1 i fryon 3t oo e
500 dfieX 21 Py o omeE &1 g P ok
"ol & IR S/ |

st #r AT wfare

272 AR 272 liters
305 TIeX 305 liters

Sese

ittt ey
ARG
/ﬁ' 15% 3545

@)
(©)

65.

@)
(©

66.

If the cost price of 10 books is equal to the selling price of
8 books, then find the profit or loss percentage.

20% BT 20% loss (b)  25% <Y 25% profit
25% BI 25% loss (d) 20% <TH 20% profit

fada: fau T IR 71w #, 2020 & 3@ HER H FH
foren =41, Rryen, $oq iR HiTST | AlBSeT &
PRU TS B deg F fow gout 3R Afgansi #t

@ A Wfese srd § yr e
70 =
60 = %
52 =
= ——=
s = -
E 0 = =
lx:90 B = ] . i
20 S = = =— "
s = = =
= = = ]
qFar fwen Teq wTS
e

e 3R FiTeT F o gy ufauifial @1 Jem d
a1 3R P B R pa afgar ufawfiat a5t

T & St BT SATUTT FIT 82
52:45 (b) 45:52
45:49 (d) 49:45

BT BT T 11 TH x 4 T SMUATdR g fom
AR & 4 Aft FAg F v Ridsy 91 & g
HrST T B | FRideR &1 3maa 3d S|

An 11 cm x 4 cm rectangular piece of paper is folded
without overlapping to form a cylinder of height 4 cm.
Find the volume of the cylinder.

oo (@) 38.5IH" 38.5cm’ (b)  40.5 THF 40.5 cm?
{ mE (c) 45.59H" 45.5 cm? (d) 50.59HE 50.5 cm®
F <ireT 9 HIAT S 37,59 67. 25 cosec’ x + 36 sec’ x BT <LTAH HIH HIT 82
2-5 ?gﬁwq géﬁ;;;u g il % - ) .3ﬁ7'5%$ What is the minimum value of 25 cosec’ x + 36 sec’ x?
& a1 2 T Y I AR (@ 1 (b) 11
@ a0 o s2% © 120 @ 121
oo oo 68 uﬁm_% :4'%a’rm4+%$rm=r Ff
62. T eI YWs et &7wd 144n W2 ], & AN 3R e b 1as wrd
5 Ht TS =T TP AT UY B AR SR F Uy HY (@ 194 (b)
AR B g9 TS P Pd ATGd fba1 82 (© 136 (d) 162
A circular plot of area 144n m? is surrounded by a circular
path of width 5 m. What is the total area of the circular 69. uﬁaﬁé Wﬁa)_cﬂ 20% W%W mmaﬁ 10%
plot including the path around it? QW CEnl %,HTST dg 45 LaLEEEIC] % wl 1 3ifpd
(@) 349 | 349 m? (b) 289m HI 289n m? el T ITd Hiford | o ) )
H 5 2 ) If a fruit seller sells his fruits at 10% discount instead of
(c) 209 HI" 209 m (d) 149 HI"149mtm 20% discount, then he saves Rs. 45. Find the marked price
3 of the fruits.
63. Wﬁ'ﬂﬁ238l46x, s dfa % adx Pl AT 3Ad (@) 450 Y 450 rupees (b) 350 FUY 350 rupees
If 23846x is divisible by 6 then find the smallest value of (c) 250 0 250 rupees (d) 520% 520 rupees
X. !
@ 1 b) 2 70. ol ¥ fRre Y Rwve ok e & g @) fewel 3t
© @ 4 Fid feeeht & forg <) fewe ok e & g @
el 31 P F IR 31 el 3R srgaer ¥ fig
64. TS 10 YIB! BT 5T o4 8 THAH! $ 47 Heu & fewve ot iad 31 srgaTa a1 &2
TRIER B, a1 a1 a1 g1 wforsra ga Ik
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@
(©

71.

@
(©

72.

@
(©

73.

@
©

74.

The price of nine tickets for Delhi and two tickets for
Amritsar is equal to the price of two tickets for Delhi and
seven tickets for Amritsar. What is the ratio of ticket
prices for Delhi and Amritsar?

7:5 (b)

5:7 (d) 3:1

A, B, C, D 3R E & 3fid 3T 40 AT 21 A 3 B FY
3d 3mg 35 99 § 3R ¢ 3R p B HTd 37y 42 a9
BEPISYR:

The average age of A, B, C, D and E is 40 years. The
average age of A and B is 35 years and the average age of
Cand D is 42 years. The age of E is :

46 (b) 48
32 (d) T8 ¥ DI 78! none of
these

V10 — 221 + V8 + 24/15 = Ja + x-"b.\—,'g.i.a Gﬁ?b

TS YUITP &, A vab BT T 30 fAPHedq 8:
5.9 (b) 68
4.6 d) 7.2

GfE a TUT b FHIHUT ax’ + bx + ¢ = 0 P YA &, dl fpd
TUIHUT b YA (ab+a+b) TUT (ab - a - b) TII?
If a and b are the roots of the equation ax’+bx+c= 0,
then the roots of which equation will be (ab+a+b) and (ab
-a-b)?
a’x®+2acx + c2+b?=0 (b)
a’x®-2acx+c2+b%2=0 (d)

TP dfd 10 fpHi e, 12 [t der ok 15 fpeii/aer
B AT S-S A A p F TP TUH g T4
Bl 21 39 gl B 99 B H et gry o
Fd 99T 45 BFE B P ¥ Q T B FA g3t I
P

A person covers the same distance from P to Q at three
different speeds of 10 km/hr, 12 km/hr and 15 km/hr.
The total time taken by the man to cover this distance is
45 minutes. Find the total distance from P to Q.

a?x2-2acx +c* b2=0

2 2
a?x*+2acx+c-b° =0

Who among the following founded the Bhil Seva Mandal

in 1922?
(& <IRMH ﬁgﬂﬁ Dayaram (b) ®dqd Gqx Gurusaday
Gidumal Dutt
(c) ?43 PTG aﬁ Dhondo (d) WWW
Keshav Karve Amritlal Vithaldas
Thakkar

77. ?Hﬁﬁﬁqmwmwaﬁﬂﬁwﬁm

Which among the following does not touch the Caspian

Sea?
@) 3{URESI Azerbaijan (b) R Iran
(c) NP Iraq (d) DG Kazakhstan

78. FrufafEa 4 o149 sifas 781 32

Which of the following is not abiotic?
(@) YT Plant (b) T Soil
(c) 9 Wind (d) aufRainfall

79. ARSI HEl BT URIS b T &2

Charkula is famous folk dance of:

(8) YITWE Bundelkhand  (b)

(c) 3/@Y Avadh (d)

SSYH Brij bhumi
I & ¥ Pig T

None of the above

80. U®H Tde W TP a% §RT AT T YOG (3R<)
fPad RIex gIaT?

The thrust exerted by a body on the surface = .
(@) I & SHIHE The (b) T P HR The mass of

weight of the body the body
(0 T& & AT The (d) d¥g B U@ The density
volume of the body of the body

81. B9 & W gATgeS acs JAfeT A 5w =1 & e
THIRERE @) Refad w2 fearg?

Recently, United World Wrestling has suspended the
wrestling association of which country?

a) SR b) HRd
(@ sfpdiskm (b) 15 fHH 15 km (@) . (3.
12 T 12 km (d) ofdHtokm America inda :
© (©) UbwM (d) SR
75. APt BTl &1 5 R § B¢ wpar & wafs B S B Pakistan nobody
1 8 faY & B2 gopar 71 3211 &1 T A & e -
82. fru rIwde &t YR WY T gag 3R eme
1Y firees &1 fbar 3R 6760 T B 3T AT B FEISI:
A @1 =T gra sifoe? : AR .
. . Which article is called the heart and soul of the Indian
A can do a work in 5 days while B can do the same work Constitution?
in 8 days. They worked together to complete the work ) ) )
and earned an income of Rs 6760. Find the share of A? (@) fFDVT17 Article 17 (b)  FFT 23 Article 23
(@) 5070%UT 5070 rupees  (b) 3600 JUT 3600 rupees () 3MIT 24 Article 24 (d)  3MIT 32 Article 32
(c) 4160UT 4160 rupees (d) 4056 %UU 4056 rupees 83. Ffifad § 4 frg WM @1 U SHRT FA9
W} ST STaT 32
Which of the following places is also known as 'Cape
[ General Awareness ] Comorin'?
@) PHIHUT A Konkan Coast (b) E@'ﬂﬁ Khajuraho
76. Prufif@s # & R 102 & fa a1 Hsa At (c) THIT BT WS Gulf of (d) FAHHANI Kanyakumari
TTTT Y 4 Khambat
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84.

@
(©

85.

@
(©

86.

HIRTPT T P fFA TRuT # fRXUsd BPIEgaR F 139 &
fore eawa® WA B &2

In which phase of the cell cycle are the proteins required
for the formation of spindle fibers formed?

e raliae Metaphase (b) el Prophase
G, W] G, phase (d) STRUIS phase

YRa § Afgarsii & o smeror 3t uawit wgl 82

Reservation for women in India is available in:

TIH THTH Lok Sabha (b) HEHSAH cabinet

faum ¥ # vidhan (d) UIEdl I GRS o

Sabha Panchayati Raj
Institutions

BT 81 W S BT Ul ‘Al TH e HeT aid [Ha1 T 32
Where has Kerala's first 'Al School' been launched
recently?

(@ RroaaqH b) PR
Thiruvananthapuram Thrissur
© @i (d) T
Kochi nobody

87.

@

(©

88.

@
©

89.

fFafafea & @ o= a1 9 97 anfdfe faerr 3 gfs
AT g?

Which of the following measuring instruments indicate an
increase in economic development?

Tod W IAE FIE () W oem H IR

Increase in GDP Increase in National
Income

TR ¥ S Increase in (d) Siad g@aRmT H 3G

Poverty Increase in Life
Expectancy

fFrafefaa # ¥ 19 91 IR9 $1 U3 TSR 781 82

Which of the following is not a type of virus?

qﬁ'ﬂ%%lymorphic (b) AHHT McAfee
Il?rﬁ'qlffg_c' Multipartite  (d) Q\?@Tﬁ? Boot sector

719 € A forer 321 & AR g &Y At righe
Ruagens?

Which country's Wagner Chief Ho Yevgeny Prigozhin has
passed away recently?

(@ b (b) =9
ukraine Russia
(c) da=d @ i
Belarus All

90.

YR WA $TIHH & oFF' & U | fFd
STdT 82

Who is known as the ‘Father of the Indian Nuclear
Programme’?

91. 173} YTl $ SR a1l enfee e 1 gRT fafaa
fFrafafEa 3 @ o119 W e g Saansi ok gy
Tl &) w=iar A fal d1EUg 82
Which of the following book written by Ibrahim Adil Shah
Il during the 17th century is a collection of songs in praise
of Hindu deities and Muslim saints?

(@) TAMAIE Gita Govinda  (b) fHAE-TART  Kitab-e-

Navras
(c) UcRMg—M™ (d) wwm
Padshahnama Muntakhab-ul-Tawarikh

92. UIRA H YR= SI-IoITd HEl ¥gl 82
Where does Tharu tribe live in India?

€)) YR XM Thar Desert (b) ITRRGS Uttarakhand

(c) T U & RS &F (d) FRWS Jharkhand

Tarai region of Uttar
Pradesh

93. fwfufEd # A frd spar A @M-T-@MT 31 IuTfy
K
Who among the following was given the title of 'Khan-e-
Khana' by Akbar?

(a) 3§ WoId Abul Fazl (b) ol Faizi

(c) dMRH Tansen @ el srega w®WH wH

Mirza Abdul Rahim Khan

94. g9 § ¥ 59 T WMPR A wifes $t ur &
daal W ufady @ & R siftRpE-n s # 82
Which state government has recently issued a
notification to ban plastic water bottles?

(@) Sffsy (b) RIS

Odisha Rajasthan

) °/FH d) P

Assam nobody

95. WRIS T fag iy forads wawTel= 22
The famous Buddhist scholar Aswaghosh was a
contemporary of:

@) 32N Ashoka (b) W Nagarjuna

(c) P Kanishka (d) E'ST Harsha

96. T & A fpud g1 iR e F1 P S @a: §
AT Ao T it 3P Halk UBTRG B Areit?
Recently the book 'Drunk on Love: The Life Vision and
Songs of Kabir' written by whom will be published?

(@) 3 HRAId (b) Hiads forsm

Atul Karwal Neelkanth Mishra

(c) dTaIH™ (d) fage Rt

Chetan Maru Vipul Rikhi

97.

mgﬁﬁmmwﬁmm
TaTe?

(@ . TA3R. W@ CNR. (b) TUH TIH WHHRA MS.
Rao Swaminathan Where has the Dancing Pikachu event been organized
(c) faPH IRIUE vikram (d) B SEAIR HIHT Homi recently?
Sarabhai Jehangir Bhabha (& Sy (b) CiG|
Japan China
(c) R @ T+
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South Korea All

98. YRd WHR FI fHy FAume g1 1 -e R &1
T FrfERY R (38 Ry fear @

Which regulatory body of the Government of India has
appointed 'Neeraj Nigam' as the new Executive Director

(ED)?
(@) YR R S Reserve (b) YR Eﬂ%ﬂﬂ% 3R
Bank of India faf g 1S securities
and Exchange Board of
India

€ YR s ffpmes @) IoE N SR
AR foem  wifdeRur fdPTd S National Bank

Insurance Regulatory and for Agriculture and Rural
Development  Authority Development
of India

99. UsB U 3T3d fF Y PR o1 Rl fSarga e

USB Pendrive is which type of storage device?

€) A Primary (b) fgdla® secondary
(c) TR Tertiary d) SR A Y Big ot &

None of the above

100. AR AWM IT FTALAgMR IS A2

Recently 'Seema Dev' passed away. Who was he?

(2) TR (b) A&
singer writer
(© siftrEh () PR
Actress nobody
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